Potencias de 10 (F)

3.1235+10

8.5937-+10

2.0235+10

8.9322 +10

5.7367 =10

8.0312+10

4.3302+10

9.9744 =10

1.8925+10

9.8125+10

Calcule los siguientes cocientes.

4.825+10

2.2291+10

1.9727+10

2.1314 =10

3.6727+10

6.3919 =10

7.7371 +10

7.5468 =10

1.4072+10

4.6852+10
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Potencias de 10 (F) Respuestas

3.1235+10
0.31235
8.5937+10
0.85937
2.0235+10
0.20235
8.9322 +10
0.89322
5.7367+10
0.57367
8.0312+10
0.80312
4.3302+10
0.43302
9.9744 =10
0.99744
1.8925 =10
0.18925
9.8125+10
0.98125

Calcule los siguientes cocientes.

4.825+10
0.4825
2.2291+10
0.22291
1.9727 =10
0.19727
2.1314 =10
0.21314
3.6727+10
0.36727
6.3919 10
0.63919
7.7371 =10
0.77371
7.5468 =10
0.75468
1.4072 =10
0.14072
4.6852 =10
0.46852
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